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QUESTION 1

Which statement is correct about Mist Edge? 

A. Mist Edge extends select microservices to the customer premises. 

B. Mist Edge must be deployed in the public cloud. 

C. Mist Edge is a firewall. 

D. Mist Edge is a VPN client. 

Correct Answer: A 

 

QUESTION 2

In a standard roam from one access point to another access point, what makes the decision to roam? 

A. the controller 

B. the access point 

C. the client device 

D. the cloud 

Correct Answer: C 

 

QUESTION 3

Which Mist device is designed exclusively for Bluetooth Low Energy? 

A. AP63 

B. BT11 

C. AP43 

D. AP12 

Correct Answer: B 

 

QUESTION 4
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Referring to the exhibit, what do you determine about the site\\'s Time to Connect SLE metric? 

A. Successful connect averaged 1.6 seconds. 

B. Eighty percent of the Time to Connect failures are related to DHCP failures. 

C. All clients cannot connect to the Internet. 

D. Time to Connect Association DHCP failures impacted 80% of users. 

Correct Answer: A 

 

 

QUESTION 5

Which statement is correct about 802.11 wireless network interfaces? 

A. Wireless NICs process all frames that are heard. 

B. Wireless NICs use Carrier Sense Multiple Access Collision Detection. 

C. Wireless NICs operate in full-duplex mode. 

D. A wireless NIC only receives frames destined for it. 

Correct Answer: B 
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